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Economics I   Microeconomics (BIM 3) 
25th January 2012   (30 min. test as part of learning portfolio)
Please note: 

· At first please check the exam paper: are there 5 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. Do not use own paper. 

· Your calculations should be shown. The complete solution (calculation) must be traceable! 
· You can achieve 30 points – in 30 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· This exam contains 4 questions, each worth 10 points. To achieve the maximum points of 30 you only have to work on THREE questions !!! 

· Permitted are:  Pens, ruler, calculator (without word processing function), dictionary English-German / German-English (only book, no electronic translators). 

· Please do not use a pencil (except in diagrams) nor red pens

· Mobile Phones have to be switched off!
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1 Objectives of Economic Policy
[10 points]
1.1 What is the Principal objective of any economy? Explain/define this concept briefly.
[3 pt]

1.2 Which (sub-) targets have to be taken into account? 
Name and discuss these in the context of efficiency and equity. 
[7 pt]


2 Markets, Efficiency and Economic concepts
[10  points]
2.1 
Compare a Market- and a Command-Economy from point of view of: 
(a) the different basic approaches
(b) the necessary political system
(c) the coordination system of the economy
(d) number and types of plans in the economy
[4 pt]

2.2 Describe some advantages and problems of a market economy
[3 pt]

2.3 Why did Germany choose a system called Social Market Economy? 
How does this fit to the types described above?
[3 pt]

educational provision.

- In any given area there may oligopolistic collusion to keep fees high.

- There are poitive externalities from education: for example, the benefits to other members of society from a well-educated workforce. Thus too few resources would be allocated to education.

- Education can be seen as a merit good: something that the government feels that people are entitled to and should not depend on ability to pay.

- Access to education would depend on parents’ income: this could be argued to be unfair.

- Children would also be dependent on their parents’ willingness to pay. Parents differ in the amount that they care for their children’s welfare.

- Parents and potential students may be ignorant of the precise benefits of particular courses, something that unscrupulous educational establishment might exploit, by pushing the ‘merits’ of their establishment.

3 A firm producing exclusive watches – being monopolist in its market segment - faces the following situation:
[10 Points]
              AR: p = 2000– 10 q            Cost function: TC = 1000 + 10 q²

a) Show this situation in a diagram:
( Average Return AR,    (  marginal Costs MC,   (  marginal return MR and    ( the Cournot point. 
[4 p]
(Remember to draw exactly and also remember to correctly label the axes).
[image: image3.wmf]
b) Calculate the optimal profit 
[3 Points] 
c) Compare graphically the welfare (measured in consumers and producers surplus) in monopoly and in Perfect Competition (use the upper graph) and describe this difference briefly.
[3 Points]

4 A cigarette dealer intends to increase revenues. There are fixed costs of 10 000 and variable costs of 4.00 per package. Currently 20 000 package are sold at a price of 6.00 Euro. Market research shows that the demand would be 24 000 at a price of 5.40 Euro and 16 000 package at a price of 6.60 Euro.
[10 points]
a) What is the price elasticity of demand (compute the value)? Is demand elastic or inelastic?
[2 pt]
b) Do you recommend an increase or a decrease of prices? Explain why.
[2 points]
increase
because the demand is inelastic (quantity-reaction <  price-reaction)

c) Compute the profit before and after the change you recommended in b). Is increasing the revenue a good strategy from point of view of profit?
[3 points]
no
d) Sketch a typical demand curve, show the elastic and inelastic parts (label everything clearly!) 
    and explain briefly
[3 points]
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Good Luck !








(10)








(10)








( 10)








(10)








P. Schmidt 
Economics 1 – BIM 3 - WS 2011/12
page 1

